4R THRE ERAPEXR

8:30 9:00 9:30 10:00 10:30 11.00 11:30 12:00 12:30 13:00 13:30 14:.00 14:30 15:00 1530 16:00 16:30 17:00
TS —=
1T | IE=Ta4vI/IL—L &K
" [ri?]
TS %
2 | K|E=T1vFIL—L &
" [rif]
IS —=F
3 | K| E=TFTaIIL—L &
7] [riz]
I —=
4 | KE=—TF4VIIL—L &
" [riz]
TS =
5 | & E—TFT4VIIL—L &K
7 [riz]
7
TEr—=
8 | AIE=—T+1vIL—L &E
" [riZ]
I —=F
9 | K |E=TavIIN—L K
7 [riz]
IS —=
10 | K [E=TFavFIL—L K
7 [ri?]
TS —=
M| KRIE=TaVFIL—L &
" [riz]
I —=
12 | € [E—TFT1VJIL—L K
7 [riz]
14 | H




4H 8:30 9:00 9:30 10:00 10:30 11:00 11:30 12:00 12:30 13:00 13:30 14:00 14:30 15:00 15:30 16:00 16:30 17:00
TiT—%
15| B |E—T42F)L—L &
7 [riZ]
IS —=
16 | K |S—Ta42FIL—L &
7 [rif]
TS —=
17 | K E=T1vFL—L K
7] [riz]
I —=
18 | K|E=TF4FIL—L &
" [riZ]
TS =
19 | & |E—TFT429IL—4L &
7 [riZ]
21
TS —=
22 | B IE=T4VIIL—L &
7] [riz]
TSy —=
23 | K |Z=F42T—L &
" [riz]
TS —=
24 | K [Z—F4VTI—L &
" [rif]
TS =
25 | K |E—T4 T IL—L &
7 [ri?]
wIF—=
26 | £ E—TFT1JIL—L &K
7 [ri?]
28 | H
29 | A [BfoB8
I —=F
30 | N |E—T42TIL—L

n

[ [t




